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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nine and half (9 1
2

) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<s ukS ¼9 1
2
½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. (a) Discuss Haworth projection formula for glucose 

and fructose.  3 

Xywdkst o ÝDVkst ds fy, gkoFkZ iz{ksi.k lw= dh 

foospuk dhft,A  

(b) How is Alizarin synthesized ?  3 

,fytfju dk la’ys”k.k dSls fd;k tkrk gS \ 

(c) Write a note on ‘End group analysis’.  3 1
2  

^varlewg fo’ys”k.k* ij ,d fVIi.kh fyf[k,A  

2. Explain any three of the following :  3, 3, 3  

(a) Spin-spin splitting  

(b) Chemical shift  

(c) Genetic code  

(d) 1H-NMR  spectrum of ethyl alcohol  

fuEufyf[kr esa ls fdUgha rhu dks le>kb, % 

¼v½ fLiu&fLiu fLifyfVax 

¼c½ jklk;fud l`fr ¼f’k¶V½ 

¼l½ ftusfVd dksM  

¼n½ ,fFky ,YdksgkWy dk izksVkWu ,u- ,e- vkj- LisDVªe 

3. (a) Discuss any four synthetic applications of ethyl 

acetoacetate.  5 

,fFky ,slhVks,lhVsV ds fdUgha pkj la’ysf”kd mi;ksxksa 

dk o.kZu dhft,A  
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(b) Discuss valence bond theory for colour and 

chemical constitution.    4 1
2  

jaxksa o jklk;fud lajpuk ds fy, osysUl cU/k fl)kUr 

dh foospuk dhft,A  

4. (a) Discuss the different nucleophilic substitution 

reactions of ethyl magnesium bromide.  5 

,fFky eSXuhf’k;e czksekbM dh fofHkUu ukfHkdLusgh 

izfrLFkkiu vfHkfØ;kvksa dk o.kZu dhft,A  

(b) Discuss the different nucleophilic substitution 

reactions of pyridine.    4 1
2  

fijhMhu dh fofHkUu ukfHkdLusgh izfrLFkkiu 

vfHkfØ;kvksa dk o.kZu dhft,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Why is pyridine more basic than pyrrole ?  

Explain.  

fijhMhu ik;jksy ls T;knk {kkjh; D;ksa gS \ le>kb,A  
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2. Write down the Skraup’s synthesis of Quinoline.  

fDouksyhu dh LØkWi la’ys”k.k fof/k fyf[k,A  

3. What are essential amino acids ? Write down the name 

and structure of two essential amino acids.  

vko’;d vehuks vEy D;k gSa \ fdUgha nks vko’;d vehuks 

vEyksa ds uke o lajpuk fyf[k,A  

4. Write a note on configuration of monosaccharide.  

eksukslsdSjkbM~l ds foU;kl ij ,d fVIi.kh fyf[k,A  

5. Write a note on Epimer.  

,ihej ij ,d fVIi.kh fyf[k,A  

6. Write a note on Nylon-6, 6. 

ukbykWu&6] 6 ij ,d fVIi.kh fyf[k,A  

7. Describe the various types of soaps.  

fofHkUu izdkj ds lkcquksa ¼lksIl½ dk o.kZu dhft,A  

8. Thiophene is more aromatic in nature than Furan. 

Explain.  

Fkk;ksQhu] ¶;wjku ls T;knk ,sjksesfVd gSA le>kb,A  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

 vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct answer : 

lgh mŸkj pqfu, % 

1. If the chemical shift on (delta) scale is 5.0, then on 

(tau) scale would be :  

(a) 5.0 (b) 0.5 

(c) 6.0 (d) 10 

;fn ¼MsYVk½ iSekus ij dSfedy f’k¶V 5-0 gS] rks ¼Vkm½ 

iSekus ij ;g gksxh % 

¼v½ 5-0 ¼c½ 0-5 

¼l½ 6-0 ¼n½ 10 

2. Teflon is a polymer of :  

(a) Tetrafluoroethylene  

(b) Difluoroethylene  

(c) Vinyl acetate  

(d) Dichloroethylene  

VS¶ykWu ,d cgqyd gS % 

¼v½ VsVªk¶yksjks,fFkyhu dk  

¼c½ Mkb¶yksjks,fFkyhu dk  

¼l½ foukby ,lhVsV dk  

¼n½ MkbDyksjks,fFkyhu dk  
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3. The total number of 1H-NMR  signals in benzoic acid 

will be :   

(a) 5 (b) 4 

(c) 3 (d) 2 

cSUtksbd vEy esa 1H-NMR flXuYl dh dqy la[;k  

gksxh % 

¼v½ 5 ¼c½ 4 

¼l½ 3 ¼n½ 2 

4. Which of the following is not an aromatic ? 

(a) Pyridine  (b) Pyrrole  

(c) Piperidine  (d) Furan  

fuEufyf[kr eas ls dkSu ,d ,jkseSfVd ugha gS \ 

¼v½ fijhMhu ¼c½ ikbjkWy 

¼l½ ikbijhMhu ¼n½ ¶;wjku 

5. Which of the following is a Purine base ? 

(a) Uracil  (b) Cytosine  

(c) Guanine  (d) Thymine  

fuEufyf[kr esa ls dkSu ,d I;wjhu {kkj gS \ 

¼v½ ;wjsfly  ¼c½ lkbVkslhu  

¼l½ Xokuhu ¼n½ Fkkbehu  

Choose True/False : 

lR;@vlR; pqfu, % 

6. Arginine is an acidic amino acid.  

vkftZfuu ,d vEyh; vehuks ,flM gSA  
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7. Galactan is a polysaccharide.  

xSysDVsu ,d ikWyhlsdSjkbM gSA  

8. Electrophilic substitution reaction in thiophene occurs 

at -position.  

Fkk;ksQhu esa bysDVªkWuLusgh izfrLFkkiu vfHkfØ;k &LFkku ij 

gksrh gSA 

9. Indigo is an example of vat dye.  

bf.Mxks oSV jax dk ,d mnkgj.k gSA  

10. Organolithium compounds are more reactive than 

Grignard reagent.  

vkWxsZuksfyfFk;e ;kSfxd fxzxukMZ vfHkdeZd ls T;knk lfØ; 

gksrs gSaA  
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